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(A ) fAdppY
E(x)= ipixi

i=1
E(X) : #tdffi > ') X &
X; © SR 2 -
P : % XUk
2. )8« A By (Variance ) FY#¥EA (Standard Error) #= k[l

Ao S EE (O o
Var(X)= 31X, ~ECOP P

i=1
Var(X) : g I'Jo k. -
o fEEE .
Do > 1Ff » Var(X) >0
@Hfo =1 » VarX) =0
(3);1’[’0 <1f > Var(X) <o

E(x)

E,(X)=Eg(X), Var,(X)<Varg(X) °
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I #E O &
ES 20% 25%
B 40% 15%
FiR 25% 3%
NS 15% ~10%

- E(X)=20% % 25% + 40% X 15% + 25% % 3% + 15% % (—10%)
=10.25%
Var(X) = (25% — 10.25%)* x 20% + (15% — 10.25%)* x 40%
+ (3% — 10.25%)* x 25% + (—10% — 10.25%)* x 15%
=0.0127

=+/0.0127 =0.1127

OZBEEZREMSE (Portfolio)

TR XY

PR D Wy, Wy

P R Ry

@R oy, 0y

1 3RB & ¢ E(Rp)=WyRy + WyRy
2.8 2% 1 o = Wgox + Wyoy +2Wy Wy Oyy
ol
G =3 (X, ~XP P
oy =2 (Y, -Y)*-P,
Oxy = 2,(X; =X)-(Y, —3_()'1)i
AN
Oxy = PxyOxOy
Oxy ' X Y= FerEk VHABEEr (Covariance ) -
pxy X~ Y FEEYE J/ﬁ'ﬁr‘ilrfg\“

—lgpxygl
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S VARG
_E{[X; —EX)]x[Y —E()] ]
Pxy = \/Var(Xi) x\/Var(Yi)
" Oxy =Cov(X,Y) =D (X; - X)-(Y;-Y)-P,
= E{ [ X; —E(X)]x[Y, —E(Y)] }

_ Oxy
OxOy

Pxy

. Oxy = PxyOxOy

ek o TIPS T TSR AT VIR o TSRSk AR B AR
RESEN ﬁ%ﬂ“,&}ﬁ?ﬁ}ﬁ B P T [N o PP ) ARVIPLHIR SR AT S
S B & ARRELE SR BB B FIATHE
FEAy SR B AR Y o A T T IS R B EYE ] ( Mean-Variance
Criterion ; MVC) -

B 800 % T 4 B B E - SO0 B LI L IR E - IR T R3S
AWREBER : B AR E 2 AR R

Eal
o BB o e in | e m =
50% 18% 25%
30% 12% 10%
20% 3% 5%
o 800
=N X) #EWE : =0.615
EHE (X) H#AE 1,300
. 500
BZ(Y) ZAwE: 1’300=0.385

Rx= D X;P, = 18% % 50% + 12% % 30% + 3% X 20% = 13.2%
Ry = D Y,P, =25% X 50% + 10% X 30% + 5% x 20% = 16.5%
E(Rp) =WxRx + WyRy =0.615 % 13.2% + 0.385 x 16.5% = 14.47%
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G§< = Z(Xi -X)? P,

= (18% — 13.2%)* x 50% + (12% — 13.2%)* x 30%
+ (3% — 13.2%)" x 20% = 0.0033
oy =2.(Y,-Y)’ P,
= (25% — 16.5%)* x 50% + (10% — 16.5%)" x 30%
+ (5% — 16.5%)" x 20% = 0.0075
Oxy = Z(Xi _X)'(Yi _?)'Pi
= (18% — 13.2%)(25% — 16.5%) x 50%
+ (12% — 13.2%)(10% — 16.5%) x 30%
+ (3% — 13.2%)(5% — 16.5%) x 20%
=0.00462
or = Wyox + Wooy +2W, W, 0,
= (0.615)> x 0.0033 +(0.385)* x 0.0075 +2 X 0.615 x 0.385x 0.00462

=0.004548
G, =/0.004548 = 6.74%

Oxy = PxyOxOy
_ Oyy 0.00462 _
6,0y +0.0033x~/0.0075

Pxy
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BHAAZ M EL1447% > BHASZAZEE (JAKR) £46.74% » =48
#AEZ AR 5093

B B G EERE S RE A AN T %

] EXEEE:E
2 2
M i L

o EOW| T F

REHE 70% 30%

HEZH 30.58% 25.14%

12 £ 15.19% 12.67%

A B H B 0.3

m E(R ) =70% % 30.58% + 30% X 25.14% = 28.95%



